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Exercise
. ® Understand the concept of circles
1 Circles Shape . eeprore : 4
and ® Recognise the basic properties of circles
2 g:'?:‘ll\::g Space ®  Draw circles using different methods 6
® Recognise that a fraction is the ratio of two
whole numbers
3 Division of = Perform division of fractions (Whole number 8
fractions (1) divided by whole number)
®  Perform division of fractions (Fraction divided
by whole number)
" Perform division of fractions (Whole number
Divisi f divided by fraction)
4 fr:c;fi:?:so(Z) Number = Perform division of fractions (Fraction divided 10
by fraction)
®  Solve problems involving division of fractions
5 Division of = Perform division of three numbers 12
fractions (3) ® Solve problems involving division of fractions
Mixed ®  Perform mixed operations of three numbers
6 operations of ®  Solve problems involving mixed operations of 14
fractions fractions
Cross ® Reeognise the cross sections of prisms and
i cylinders
7 sections of : : : 16
=Recognise the cross sections of pyramids and
3-D shapes . Nones
Vertices and -~
8 d f3-D .~ ™ Recognise the concepts of vertices and edges 18
ehges ot 5~ Shape of 3-D shapes
shapes and
Cubes, Space ® Recognise the concepts of cubes and cuboids
9 cuboids and = Recognise the nets of cubes, cuboids and 20
cylinders cylinders
® Recognise the concept of spheres
10 Spheres ® Recognise the basic properties of spheres 22
® Understand the relations between the number
of sides of the base, the number of faces, the
Exploration of glt(.l;nk;(rei;r?]f edges and the number of vertices
11 3-D §hapes ® Understand the relations between the number 24
(Enrichment) of sides of the base, the number of faces, the
number of edges and the number of vertices
of a pyramid

" Perform multiplication of a number and 10,

12 Interesting 100, 1000 30
multiplication = Perform multiplication of a number and 0.1,
0.01, 0.001
Number R :
" Perform multiplication of decimals
13 Multiplication (Multiplication of decimal and whole number) 32
of decimals (1) = Solve problems involving multiplication of
decimals
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Exercise Topic Strand Learning objectives Page
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®  Perform multiplication of decimals

Multiplication (Multiplication of two decimals)

of decimals (2) NI = Solve problems involving multiplication of 34
decimals
® Recognise the concept of volume
Volumes ®  Compare intuitively the volumes of objects 36
®  Recognise cubic centimetre (cm®) and cubic
Measuring metre (m?) 38
volumes ® Measure and compare the volumes of
objects in cubic centimetres
Measures ® Recognise and use the formulae for finding
Volumes of the volumes of cuboids and cubes
cuboids and = Solve problems involving the use of the 40
cubes formulae for finding the volumes of cuboids
and cubes

Vol f "  Find the volumes of 3-D shapes formed by
LS ) cubes and cuboids 42

3-D shapes ®  Solve problems involving cubes and cuboids

® Regognise the concept of equations

" Solesimple equations in one step by 44
addition and subtraction

Simple
equations (1)

m,, Solve simple equations in one step by

Simple Algebra multiplication and division 46
equations (2) 9 >~ ® Solve problems involving simple equations in
one step
: - I impl ti int t
Simple - Solve simple eqL.Ja |on§ in .WO steps ' ' 48
Solve problems involving simple equations in

equations (3) two steps

B Cover the content of exercises 12 — 21

Additional Resources:

Cross-topic Exercise 62
Challenging Problems (‘Inquiry and investigation’ in the latest curriculum) 64
Revision Notes 66

Answer Booklet (Including Solution Guide, Common Mistakes Explanation, MCQ Explanation)
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Mixed operations of fractions

Common
Error

4\\'!} 1-minute Revision
=

A. 2@ X Forget to change the divisor to its reciprocal.

N
allbs
1
—
(6211 \V]
X
AW
1]

D
SN
\l

B. 25 x Mistakenly change the multiplier to its reciprocal.

Mistakenly change the dividend to its reciprocal and

O
olw
x

multiplied by 1% .

\_A_\Zf Basic Practice

Do the calculations. (Express the answers as fractions in the simplest forms.)

R 1 Y-
5 (15-5)* 15" & 7@
7 lasesds . 51
9. 65+ (g g)= 10. 96+ 16-4 =
Blacken the () next to the correct answer. =+ /I\

2
11. There were 18 litres of distilled water in a company. After7 of the distilled water was

drunk, how many litres of distilled water were left?

QA.18><(1—%) OB.18><% ()C.18-

~NIN

2

12. Janet pays $64 for 1% kg of watermelon. Sandy buys 2% kg of watermelon, how much

should she pay?

1 A
OA.64 x 27 (UB.64+15x2;
QC<34><11+21 C)D64x11><21
: 2 “4 : 2“4
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Date Time used minutes Marks

13. A fruit shop sold 192 pieces of fruit yesterday. The number sold today was 1% times

that of yesterday. How many pieces did the fruit shop sell in these two days in total?

QA.192><1% OB.(192+192)><1%
QC.192+1% QD.192X(1+1%)

;\3/— Advanced Practice

Fill in the blanks. (Express the answers as whole nhumbers or fractions in the
simplest forms.)

14. a. A bottle of vitamin pills had 60 pills. Dad took % of them.

Mum took % of them. How many vitamin pills did they Useful Tips ¢

take in total?

Answer:

b. What fraction of the original number of vitamin pills are the remaining pills?

Answer:
9; 3 1
5 15. Eric weighs 45ﬁ kg. His weight is 1§times that of Judy. Eric is kg

heavier than Judy.

A\ 16, 1F 5+ — % — % = 0. the value of % is

e 7

Solve the problems. (Show your working; express the answers as whole numbers

or fractions in the simplest forms.)
-

T 17. Ken has 18% L of water. He pours % of the water into boxes of capacity% L.

Question

How many boxes can be completely filled?

A
®

Lﬁp 18. Fanny exercised for 1% hours on the 1st day. Every day she exercised % hour

Question

more than the previous day. For how many hours did she exercise on the 6th day?

Useful Tips »
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* x Final Assessment

Time allowed: 45min

Name: Class: ( ) Date:
Circles Recognising circles, and drawing circles 1-4 114
Division of Division of fractions, and mixed operations of 5_ 11 /16
fractions fractions
3-D shapes Cross sectlo_ns, ver_tlces and edges, and 12 - 19 /16
cubes, cuboids, cylinders and spheres
Multiplication Interesting multiplication, and multiplication
of decimals of decimals A -l I22
Recognising volumes, and volumes of
OIS cuboids, cubes and 3-D shapes & —d /19
Slmplfa Solve simple equations and related problems 39 — 43 /113
equations
Total marks: / 100

Instructions

Multiple choice questions: Blacken the () next to the correct answer.
e Questions in which you are asked to ‘show your working’:

Write your mathematical expressions, answers, and statements / conclusions.
e Other types of questions: Answer as required in the spaces provided.

Marks
1. Inthe figure on the right, point O is the centre. B C
AC is a straight line.
a. Line segment is the longest straight
L . O D 2M
line inside the circle.
b. IfOAis3cm,thenODis cm. v
A
2. In the figure on the right, the centres of the small
circle and the big circle are point P and point Q R
respectively. RS and TU are straight lines.
a. If the radius of the small circle is 2 cm, then T Q. P v
. 2M
PU is cm.
b. If RSis 4 cm, then the diameter of the big circle
is cm. el
3. The figure on the right is made up of 4 identical
circles. By joining the centres, a square is formed. oM
If the radius of the circle is 3 cm, the area of the
square is cm2.
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Cross-topic Exercise ®

Complete the following.

1. The figure below is made up of 2 circles of the same size. The diameter of each circle

is 8 cm. ‘*’ is the centre of each circle. The green part is a trapezium.

a. The trapezium can be divided into 2 triangles and
(1/273) square. (Circle the answer)
b. The area of the green part is cm?

Buy 3 get 1 free

Potato ‘ ‘ A
Beetroot
$28 for y potatoes $5.5 each

a. Each potato costs $ on average. (Write the algebraic expression.)

b. Mum buys 12 beetroots. She only needs to pay $ . 1L

c. Mum mixes the water shown on the right with beetroot juice

of 1% L. Then, she divides the beetroot juice into cups of% L.

There are cups of beetroot juice.

3. Each metal rod weighs 1.8 kg. Each rubber pellet joining the
metal rods weighs 0.75 kg. If you use metal rods and rubber
pellets to make a tent on the right, the whole framework will

weighs kg.
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» Revision Notes

*®

Unit 1: Circles (Exercises 1-2) RS .

1. Recognising the circumference, centre, radius and diameter of a circle
Q e The perimeter of the circle is called the
I circumference.
e Point O is the centre. All the points on the
circumference are equally distant from the centre.
e OP, OQ and OR are radii of the circle.

e PR is a diameter of the circle.

2. Drawing circles

e The point where the needle is fixed is the centre.
e The distance@en the needle and the pencil tip is

the radiu e circle.

Bi r@b’ g the pencil tip for one loop on a piece of

a circle will be drawn.

Unit 2: Division of fractions (Exercises 3-6)

1. Fraction and division

e A whole number divided by a whole number can be represented by a fraction.

' _ Whole number A L
Whole number A +~ Whole number B = Whole number B eg..3+-6=
(Dividend) (Divisor)

AN W
N | —

e Ratio of two numbers
Express the ratio of two whole numbers as a fraction.

e.g.: There are 5 objects in Group A. There are 7 objects in Group B.

5
The number of objects in Group Ais 5+ 7 = 7 that of Group B.

0 0
----------------------------------------------------------------------------------------------------------------------------------------------------------------------
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13. 3+

14. 475 ~+

3 .
Each one can get 2 L of orange juice on

average.

4 cakes can be made at most.

[ Convert all the weights into the same unit first.

700 g = 1000 ——kg. ]

6 Mixed operations of fractions

(The result of calculations can be expressed
as mixed numbers or improper fractions in the
simplest forms.)

5
1. 6
1
2, 26

3. 7 (or17)
19
4. 14 (or1 1 4)
27
5. 20 (or 12 0)
3
6. ]
3 1
7. 5 (or 12)
1
8. >
9. 6
17
10. 4
1. A
2 . 2
[ 7 of the distilled water was drunk. (1 — 7) of the
distilled water was left.
Distilled water left = Original amount x Fraction of
the original amount that the remaining distilled water
2
accounts for =18 x (1 —7) ]
MCQ Explanation
qung Reason
choice
Neglect that the question is asking for the
B amount of distilled water left. Mistakenly
choose an expression to find the amount of
distilled water drunk.
2 2
Mix up ‘7 of the distilled water’ and ‘7 L’
. 2. . 2
C and think that 7is referring to 7 L.
Therefore, wrongly use subtraction for
calculation.
Misunderstand the question. Wrongly use
D L .
division for calculation.
12. B

[ To find how much Sandy should pay, we should find
the price of every kilogram of watermelon first.

1
Given that $64 can buy 15 kg, then each kilogram
1
costs $(64 + 15). By multiplying the weight of

1
watermelon that Sandy buys (22 kg) by the price per
each kilogram, we can find out how much she should

pay. ]
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MCQ Explanation

Wrong
choice

A

Reason

Mistakenly think that $64 is the price of
1 kg of watermelon.

Mix up the concept of multiplication and
C division. Mistakenly reverse the
multiplication and division.

1
Mistakenly think that 64 x 15 can find the

price of every kilogram of watermelon.

13. D

3
[ The fruit sold today was lg times that of yesterday.

The fruit sold yesterday was 1 times 192. Therefore,
the number of pieces of fruit sold in these two days

was 192 x (1 + 1%). ]

MCQ Explanation
Wro_ng Reason
choice
A Calculate the number of pieces of fruit sold
today only.
Put the brackets in the inappropriate place,
B .
so a wrong answer will be calculated.
Mistakenly think that the question is
C asking for the amount of fruit sold today
and wrongly use division to solve the
problem.
14. a. 50 [60x 1— )or60x—x2]

Common mistake: 1015—2 x

e Misunderstand ‘Mum takes 15—2 of them’.
Mum takes 15—2 of the original 60 pills, but
not 15—2 of the pills left by Dad. Therefore,

5 5
the expression 60 x 212 does not catch

the meaning of the question.

1
b. 6
[ They take 50 pills in total. There are 60 — 50 = 10
remaining pills. Therefore, the 10 remaining pills
10 1
account for 50 that is o of the 60 original pills. ]
15 1
15. (or 154 1 0)

[ Eric is heavier than Judy.

Weight of Eric — Weight of Judy =

3 301
4555- (4575 13) ]

16. (or 27)

1 1
[ 57 minus 2 % is equal to 0, that means 57 is equal to

1
2 %. By dividing 57 by 2, the value of % can be

Lo, 18
found. That is, 5772—7.]

=30

18. 1

1
She spent 2 hours doing exercise on the 6th
day.
[ The 2nd day was ~ 3 hour more than the 1st day, so

1
add g for the 2nd day. The 3rd day was 5 hour more

1
than the 2nd day, so add i 2 for the 3rd day. The

1
4th day was 5 hour more than the 3rd day, so add

1 1
i 3 for the 4th day, so add (g % 5) hour for the 6th

day. ]

7 Cross sections of 3-D shapes

1. O, O (Answers are for reference only)

[ The size and shape of the base and cross section

should be the same. ]

2. A , A (Answers are for reference only)

[ The size and shape of the base and cross section

should be the same. ]
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